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vold showMe (int arg):
int main/)

int num = 0;
showMe (num) ;
return 0:

&
vold showMMe (int arg)

if (arg < 10)
showke (++arg) ;
else
cout << arg << endl;
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CRM =
SCua By slby (;80)8 ©

vold showMe (int arg):
int main ()

int num = 0;
showMe (num) ;
return 0;

i
vold showMe (1nt arg)

if (arg < 10)
showMe (++arqg) :
cout << arg << endl:;
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M =

vold printnum {( int begin )

cout<< begin; (-C"m-.):% Do) °
1f { begin < 9 )

printnum {( begin + 1 );
H
cout<< beglin;

} 456789287654
int main() .

printnum { 4 ) % ”B
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*F(3) =35 F(4) = 8
* F(5) =13 F(6) = 21
e F(7) = 3¢ F(8) = 55
e F(9) = 89

F(10) =144| %

csuRPanlp csSlw



TS I SaS 2 alina o =

ab9) @ eI ahb b easled o il )
200 Gun !l (3103wl

@lga 8 3508 Jac «giregy siils lbiwl e
.02)lw 06519 35 1) aady girsgs (gl PIASN G

G5 slaaigad (slp ) dlws Cuwl (315 gi5
305)19 «gixsgs yo 3681 ) (onaw g 83)5 Ja
SO0 A58)5 anall (30la ginsgs

s Panlp csile



e i) csalp =—

:a5 sl LIS 300 dlws Ja (sl ony °

(VL Ob) .Auwl Ja LB ;5865 sWBGa5 Sp -
GW)R RB Joly @ s)ge IN=106n=0 $lp Vyscs
)

Slaaigad (59) il 1) PGSR (sBg83 Ja ol plgS¢0 P

())33w] (5).0180 35005
Cuns @ § 265 (slaalas Qlalas g3y pasw uoys G
PSS salas slp ably 9s)g)

F(N) = G( F(n-1), F(n-2), ....., F(n-k) )

CS-W..Q«"‘UDU)% CS‘)U"Q



RSG 1S5 ¢ Iy sladius ) 3351
N3 Js S0 o @ ) ¢§ 31y @auald )3 )‘bxwl;,}jgb -

Wls (sl ,IHBSI0 sabyly Gy 3335 (,w sl
Jads 335¢,6 )38 a5 (5PELS Ollas B (e
BUTTTETITIANTTIT Y

A5 )y @k boyd sl 1) Tw)s guw

235 0 1y 308 (IWS)L sabyly

Olls sly Jo @ goub syl slosyl )51 :ADQA
awlai Jlis pw)p 9 dlus 1599

CsJU«?.de-DUH C.?')LU‘)



(an))esjwesw g cla =—

:S)lwaslyy )y ©

abdls a jbi g halwl gobwl 1) $39)9 Slaysal)b —
padiie 1) 91 Olgs g 83)5 )y 1) @b byb il -
A

laly @) aSiy)l poys b)) el o5 guyw —
Slaolgs @ j03 )51 iy S)lsy «AiFg0 )0 Cuw)s

MTws gl gligs Js )3 a5 (@6 ) )l )55865
A35¢,0 )5 Cuw)s 335 00)0 § 23)5 aslaiw)

CSMQ.QJ"UDU}% sl



Flactude Slostrean (530)9 )| Cule (33 Olgic a3 1) N a5 samagly slasly
using namespace std; .)._2(.4).) (l.\.U.)‘AJ) \) U‘\' d.l)‘)jjls 9 b))s C)QQ))

int factorial (int):

vold main(wvoid) {
int number:

cout << "Pleasze enter a positive integer: ";
cin >> number;
if (number < 0)
cout << "That i3 not a positive integer.\n";
else
cout << number << " factorial is: " << factorial (number) << endl;

int factorial (int number) {
int temp=1l;

Pleaze enter a positive integer: 92

if (number <= 1) ? factorial is: 362888

return 1;
while (number > 1)
temp *= number—--;
return temp;
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cbypsl U =—

n! = n?* (n-1) *# (n-2) * (n-3) ... * 1
5l = = 4 & 3 & 2 # 1 = 120 .\

1 if n =0 oy
nl = Vn € N.

n((n—=1)1) ifn>0

factorial(d) =

o * factorial(4)
4 * factorial(3)

3 * factorial(2)
2 * factorial(1)
1
=120
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int factorial (int);

vold main(volid)
int number:

cout << "Plea=se enter a positive integer: ";
cin >»> number;
if [(number < 0)
cout << "That iz not a positive integer.\n";
else
cout << number << " factorial i=z: " << factorial (mumber) << endl:

int factoriazal (int number)

int temp;

if (number <= 1) return 1;

tenp = number * factorial (number — 1) :
return temp:;

Please enter a positive integer: 7

? factorial is: 3628804
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F(n) = F(n-1) + F(n-2)
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long fibonacci (unsigned long):

int main()
i long num;
cout << "Enter a positive integer: ":
cin >> num;
cout << "Fibonacci number=s: " << fibonaceci (num) << endl;

}

long fibonacci t“”Sigw wl bub : Jol 05

if (n <= 1)
retuarn n;

ihonacci numbhers: 13
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hanoi (int nD sk, char start, char tenp, char finish ) |

void hanoi (int nDisk, char start, char temp, char finish){
if ( nDisk == 1 )

cout =<=start =<" --> " <=finish <=<endl:
else

hanoi ( nDisk - 1, start, finish, temp );

cout =<=start =<" --> " <=finish =<endl:

hanoi ( nDisk - 1, temp, start, finish );

}

}
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